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1. Write each of these times as decimals.

a.
5hrs 30mins

b.
2hrs 15mins

c.
1hr 45mins


d.
4hrs 18mins

e.
10hrs 54mins

f.
8hrs 36mins


g.
3hrs 27mins

h.
42mins


i.
9mins

2. Write each of these decimal times in hours and minutes.

a.
8.5 hrs


b.
6.25 hrs

c.
9.1 hrs

d.
4.3 hrs


e.
7.45 hrs

f.
2.85 hrs

g.
0.15 hrs

h.
0.65 hrs

i.
5.23 hrs

3. Calculate the distance travelled given the average speed and time.

a.
56 km/hr.
2 hrs


b.
70 mph.
1 ½ hrs

c.
82 km/hr.
4 hrs 18 mins

d.
42 mph.
3 hrs 36 mins

e.
35 km/hr.
5 hrs 6 mins

f.
54 mph.
42 mins

4. Calculate the average speed given the distance and time.

a.
150 km

3 hrs


b.
320 miles
5 ¾ hrs

c.
240 km

6 hrs 27 mins

d.
80 miles
2 hrs 54 mins

e.
725 km

10hrs 40 mins

f.
3 miles

50 mins

5. Calculate the time given the distance and average speed.

a.
86 km

21.5 km/hr

b.
452 miles
48 mph

c.
152 km

32 km/hr

d.
96 miles
45 mph

e.
420 km

5 km/hr

f.
5 miles

8 mph

6. A train leaves the station at 9.48 a.m. and arrives at its destination 210 miles away at 1.32 p.m.  Calculate the average speed of the train correct to 2 sig. figs.

7. A long distance lorry driver left Aberdeen at 8.15 a.m. one morning and travelled for 4 hours before stopping for lunch.  After his hour lunch break he continued, arriving at his destination at 3.20 p.m.  Given the total distance travelled was   480 miles, calculate the average speed.

8. Fraser and Steven both cycle to school.  Fraser lives 3 miles away from school and Steven lives 4 miles away.  One morning Fraser left for school at 8.15 a.m. and arrived at 8.31 a.m, Steven left at ten past eight and travelled at the same speed as Fraser.  Who arrived at school first?

9. A motorist travelling at a steady speed of 120 km/hr usually covers a section of motorway in 37.5 mins.  One day a speed limit was imposed and he took 12.5 mins longer to cover the same section.   What was the speed limit?

10. [image: image2.wmf][image: image3.wmf][image: image4.wmf][image: image5.wmf]If a satellite takes 90 days to orbit earth, and the radius of the orbit is 4850 km, calculate the average speed of the satellite in kilometres per hour.   
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4 850 km
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